Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

D 63x30= 2) 71x76=
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66 x 69 =

Answers
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
63x30= 71x76= 66 x 69 = N 1,890
6 3 7 1 6 6
0 210 3 7
1 3 4. 7 3 e [|l2 539
1 8 9 57 9 7 4 6|~ 6
0 0 S la 7o 5 5 . 3, 4,554
ol 0]’ N Y Y sl 4|’
8 3, e 5 L 4 4,081
9 0 9 6 5 4
5. 492
4) _ 5) _ 6) _
77 x53= 12 x 41 = 69 x 44 = 6 3,036
7 7 1 2 6 9
3 210 3 7
3 5 O/,' 4 2 /,’ 4 7 7,482
4 5 5 ol 4 8 3 4 .7 6
2 2 o .o 2 3 8. 5,005
1 1 |° 1 2! 4| 6 |*
0 4 1.7 0
8 1 9 7 2 3 6
10. 918
7) 8) 9)
86 x 87 = 77 x 65 = 26x30=
11. 4,370
8 6 7 7 2 6
6 4 8 4 4 6 0 1 3 || 2. 6,688
- 4 8 5 2 , 2 0 6. 8
5 4 A3 73 0 0o
7 y 5 1o
4 6 2 ol 5 5 7 0 ,," 0
8 2 0 5 8 0
10) 1gx51= 1) s5x05= 12) 76x88=
1 8 4 6 7 6
4 5 4 7
0 5 3, 9 5 8
0 5 0 N 4 5 6| 8
0 0 A2 3 5 4
1 5 R
9 1 8 5|70 0 6 6. 8
1 8 7 .70 8 8
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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